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EXERCISE 7.3 e 9" Nﬁ

A. Fill in the blanks with the most suitable unit (kg, g or mg).

1. A packet of salt weighs 1 Js% 4. Number Magic weighs 200 4 __
». Your pencil weighs 15 éf 5. A feather weighs 10 _LDQ»

3. An 8-year-old boy weighs 30 K& 6. An apple weighs 125 %_ |

B. Match the pictures with the most likely weights.

a. 80 kg Y
‘ \ b. 100 kg | o
23 \g&{\* :3

& 3000 kg @
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: . 200 kg -

M rite &e weigl?.grj{\n ascenda%% order. e m o\l 0 b( ‘Q

1. 3 kg 300 g, 6 kg 200 g, 3 kg 900 g

2. 5 ;% 300 g, 6 k&éoo g, 4ég
s ‘

~—— _.d. 5 mg
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